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Dusty Wilson = jfuesy’ = 8 T
Mathy22 0 / We must admit with humility that, while number is purely a product
4 . of our minds, space has a reality outside our minds, so that we
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cannot completely prescribe its properties a priori.

No work = no credit Johann Carl Friedrich Gauss
No Calculators 1777 - 1855 (German mathematician)
When did Gauss die?
. 2 . —(-1) = e
Warm-ups (1 pt each): 3= -9 1-(-1)=_% — RIS

1.) (1 pt) According to Gauss (above), were numbers discovered or invented? Answer using
complete English sentences.

Nunmbers ode a F(‘O&-\Jeﬂ' Dsl ovr rurd w},;&
)QD\O’S g, Yo "‘Ln;pL Lle. %e]fe_-véa/ +J1¢8 are. I‘;JUQ.;O*/‘QJ‘

2.) (1 pt) Slack hint: The number is )T

4x, +5x, = -7 | .
3.) (4 pts) Solve the system using matrix methods.
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4.) (2 pts) Determine the value(s) of 4 such that the matrix [

matrix of a consistent linear system.
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5.) (2 pts) Give an example of a 3x4 augmented matrix of an inconsistent linear system.
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x, —3x, =5

6.) (4 pts) Solve the system —x;, + x, +5x,=2 using matrix methods.
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